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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  (2×19=38)

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Explain Keynes psychological Law of Consumption

function ? In a two-sector economy, the income function

is : Y = C + I and consumption function is given

as : C = 40 + 0.75Y. If investments are 60 crores,

calculate :

(a) Equilibrium level of income

(b) Level of consumption at equilibrium

(c) Saving at equilibrium.
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       Y = C + I 

C = 40 + 0.75 Y

60 

 

 

 

2. Does a non-linear Savings and Investment function

appear to conform more closely to the behaviour of

saving and investment in the course of business cycle ?

Explain.

         

       



3. Do you agree to the Law that Supply creates its own

demand ? Critically explain.

 



4. Discuss the Hicks -Hansen theory of the determination

of rate of interest. How is it superior to Keynes ?

  


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5. What is Keynes theory of Demand for money ? How is

post Keynesian theory of demand for money different

from Keynes’ view ?

 

       



Section–B

–

Sh ort Answ er Type Questions

  (4×8=32)

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. Discuss the nature and scope of Macroeconomics.



2. What is National Income ? Discuss the theoretical or

conceptual difficulties in the measurement of national

income.
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           



3. Define high powered money. How is it related to money

multiplier.

 



4. Explain demand pull inflation, cost push inflation,

disinflation, deflation, and stagflation.



 

5. State the difference between induced investment and

autonomous investment. Explain any two determinants

of Investment

 



6. Discuss the factors that determine the size of multiplier.

What will be the value of multiplier if marginal

propensity to consume is 0.75.

         

0.75 


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7. According to Friedman, quantity theory is the theory of

demand for money and not a theory of output, income,

or prices. Explain



 

8. Explain the various tools of Fiscal Policy. How is it

helpful in controlling the economy ?

        

 

**************


